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LR[BS (RLgTH) 1 [ER274E11H 12 8 | 15:00] 188 & )5 =X [ 65 7.3 | >5offEE -[7.1] >05] 3.9 2| 110 - -
)5 — 38| 14 (LR TT) 1 [ER274E11H 12 8 | 10:30] 188 & )5 =X [ 81] 91 | >5offEE -[70] 14 5.0 6] 97 - -
SRR [EIR (FERT) 1 [FE274E10H 148 | 10:12] 8% 7= (= 111 133 | >30|#EA 28] 73] <05] 21 2| 10.0 6 9
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A S HAEE (SR 1 [ERk274E11 418 [ 10:35)@ % 5 X [iF 152 12.4 | >50[EE 1.7/75] 08| 23 2| 100 - 19
A | BKHIER (BKHE ) 1 [CER274E11H 16 B | 11:58| 18 & )7 =X [ 176 12.9 1.1]  46[EE R 71 [ 46 6 - 600 -
W & BJIR0 GEE) 1 [ER274E11H 198 | 09:10{# 5 7= (= 105 12.3 -| >30[%kwt - ¥ 71700 18] 31 5| 10.3 - 12
S RE OFRAD) 1 [FR274E11H 118 | 13:30(# % X (= 9.6] 119 - >30|#EE -|72] <05 25 1| 11.0 - 14
Pl G ELD) 1 [‘Frke74E10 31 H | 11:20@ % X [ = 15.6 | 18.0 .| >50|fEE -|79] <05 17 3[ 9.0 - 200
FARJINF O 23 O KAE (ki) 1 |ERk274E11 0 17 B | 10:48]5@ & 5=\ | 215| 175| 08| 47|FEaE -|78] 05 28 71 81 1,570 250
iAW | E) e X EE e T (FH s ) 1 [ER274E12H8E | 09:40| 8 & )5 =X (I 75 95 -| >100[2EA, 0473 o6 27 1| 11.0 - 21
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TRER 324G () 1 [ER274E10H 14 8 | 09:15|# 5 7= (= 215] 184 | >50[&ER 2982 o09] 42 3] 103 - -
FORAR Pl e GTHRIX) 1 [Fk274E11H 12 A | 10:25[58 % 55K | 151 17.8] 07] 25[BE 19[ 7.6 - 33 19 51 - 3,380
R E - (1K) 1 [ERk27#E11H 12 A | 12:45)@ % 5= | 16.0| 19.2 RN 6] 7.5 - 39 5/ 33 - 2,710
R (8RB0 74 Bk ) 1 [FR274E10H 218 | 09:30(# 5 7= (= 19.3[ 20.2 - >30[HEAR A 1171 20] 6.2 4 72 - 37
R 1 ["ERk274£10 A 22 B | 09:50[ @ i 5 =X [iE 21.3| 234 13 -[A 12|81 | 31 3] 116 - -
FE LR ZEE ] 1 [*ERk274E11 7 18 H | 09:20[5@ & 5=\, | 19.0| 200 >55 -[Ea 0.8/ 7.6 - 32 10 6.2 - -
Frn i ERIT GrEmh) 1 [ER274E10H 14 B | 09:55| 188 & J5 =X [ 185 15.9 -[ 39Kk -[75] 11 29 15| 9.3 12 16
fE ) EERE Gl Th) 1 [ER274E10H 158 | 10:10] 88 & J5 =X [ 16.7 | 15.2 | >B0[Kfktn -[70] 09] 20 <1 100 8 10
IR EJIRPIRIE (BHKkh) 1 [*FR274E10H 21 8 | 09:30| 188 & J5 =X [ 178 15.7 -| >100[#E = -[77] <05 07] <1] 100 <100 -
AR BT O (B3R 1 ["FRk274£11 450 [ 10:05[w@ % 5K g 21.0| 154 | >50[EE -[72] 20 23] 10 88 - 189
F R |l R BEIAS (B ) 1 [PEE274E11H4E | 11:39| 1 5 )7 =X (i 185 13.4 -| >100[WktE o - 16[71] 12] 21 3] 11.0 16.9 28
e K EmT) 1 [*FR274E10H 27 B | 13:00] 188 5 )7 =X (i 258 19.1 - >30|#EE 476] 10 16 5| 11.6 - 12
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40T R RSB 1 [FER274:10H 27 A | 12:26|@ % 7= |2 226 243 25 B EEERS 0.62] 7.7 -] 38 4] 49 - 4,100
St Em ) EEE (K ET) 1 | k274210 A 26 B | 13:20] @ 5 7 = |iE 21.0| 228 -| >100[/K#k {77 12| 44 6] 36 - -
44 RS AL S8R 1 | k274210 A 26 B | 14:00] @ 5 7 X |iE 22.1| 236 -| >100|fEAE, {78 17| 34 19 4.0 - -
BN EERTES 1 |"FEa274E10 A 21 A | 10:30]5@ % 520 | emg | 26.0 | 20.8 2 - F ke - B -1 8.3 -l 29 1 96 - 3,980
WA R [EEEIIRE HE R 1 | k274210 A 27 B | 09:25| @ 5 5 = |iE 19.8 | 19.1 7.2 -kt - IR <176 -l 27 1 93 - 118
IR o 1 |Epk274£10 A 27 B | 10:15] @ 5 7 =X |iE 198 | 18.1 2.9 -kt - IR 1/ 7.6 | 29 2| 94 - 120
SR | 1 |Epk274£10 A 23 B | 10:13| @ 5 7 =X |iE 18.6 | 20.9 10 -| o, 0.1/ 85 -l 16 5] 7.3 - -
N T PNIES LN ) 1 | k274210 A 28 H | 09:55| i@ i 7 = |iE 220| 19.0 -| 88|k M - ¥ 42|76 05| 31 4 93 15 20
KPR pk 1 [Frk274£10 H 27 H | 09:00 |58 & 5 =\ |1 230 206| 33 [P - 1 18] 8.1 -l 26 of 68 13,000 3,110
R [Er A kRN 1 |Epk274£10A 22 [ 10:17| @5 5k |2 235| 229 1.3 -|IK ikt 0| 8.2 -l 15 10] 6.9 - 4,360
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KT 1 k27411 A48 | 10:00]@ 5 7= |iE 185 195 5 -kt - PR 1/ 7.9 -l 19 2| 73 - -
i SEHE 1 |Epk74E11 A4 [ 12:40]@ % )7 |iE 195 20.7 5 - H R - B 1/ 7.9 17 2| 70 - -
S | R E S v 1 |Epk274£10 A6 0 | 09:51 |8 7= |iE 211 221 35 -[BREE A -| 8.2 | 32 2| 80 - -
oW | 1 |Epk274£10A7H | 1041|085 7 X |iE 249| 234 5 -| F o 0.9] 8.2 | 18 of 80 - -
R 1 |"Epk274£10 A 22 A | 10:30] @ 5 5 X |2 210| 215 13 -| F ko 3.6/ 8.2 -1 13 1 70 - -
F)NE | S 1 |"ERpk274£10 A 13 B | 09:05| 3@ 5 7 = |iE 217 227 2 -[fta 0.6] 8.0 [ 20 2| 6.2 15,000 -
EEE NG (E%ni) 1 [‘Frk274£10 30 H | 09:45)@ % = [ = 18.0| 16.1 | >30lEe 42|66 <05] 27] <1 65 891.56 192
fEiA | E L) s GRiE ) 1 |"Epk274£10 A 22 A | 10:25] @ 5 7 = |iE 220| 202 - >50[Fkk - ¥ 6.2[77] 18| 45 9l 73 19.3 20
RAH 1 k274210 A 29 H | 10:30| @ & 7 = |iE 18.0 | 20.8 15 RS 45|82 -l 22 6| 5.8|4i%26.8%o0 4,300
LI T [ 1 |Epk274£10 A 20 B | 09:20| 3@ & 5 = |iE 222 214| 35 -| o, -| 8.2 -l 25 1 96 - 4,660
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